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Ing=1vpunE=C g} (Z4)
128 042 (¥) 128 052 (=) 128 062 (=) 128 072 (=) 128 082 (2)
1t 1 e qare 12ABIZEA
-1SARI0ISH | - 18HASH0IT [(5.6.18) S 1ADIHOIHA | E

(1.2.5.6) (1.2.5.6) - 1GILIHEILAH [=(5.6.9.16) (1.2.5.6.10.13.15
- 1F02 1& X2 XK 2t(1.2.5.6) 1SR /2EE |16)
=2t (5.9.17) (5.9.16.18) - 1DF0ISHIIS A [(5.6) - 1 =21X1(9)
St 2 Al ofopat 12E=100| 1=FUS Mele -1E|3UEZA | - 10k2E=d013
(5.6.10.12.13.18) | - 122/2171(5.6) |(1.5.12.13.15) 5£3(5.6.9.10) (5.6)
- 10FXH Al 20l S 12=D1(9) 1220123 S 12=D1(9) - 12%(2)
(1.5.9) (5.6.13) 12AHE(2) At
< 12%7((9) - 1= 21X1(9) -1=32EeE
- 1€0] (1.2.5.6)
- HITIEHA(2)
= 2z | Fm2
RIS . =R oo oo RIS oo
Zey | 43y | 43y
OUiXI(keal) | 719.00 | 719.00 | 4.4 756.7 776.2 844.8 646.4 727.9
B8 2(g) 58. 1 106.2 78.7 149.9 91.7 11.7
EHe s (g) 18.86 | 18.86 | 18.4 40.9 28.5 4.1 35.9 20.6
X2 (g) 23.5 16.4 37.1 7.4 13.4 22.3
HIEFRIAG RAE) | 160.86 | 227.31 | 138.1 8.9 106.3 155.8 60.0 359.5
EI012! (ng) 0.30 0.37 0.7 0.8 0.4 0.8 1.0 0.6
el Eeiei(ng) | 0.36 0.42 0.7 0.3 0.6 0.7 0.5 1.2
biEeICng) | 24.86 | 31.63 | 42.9 6.9 12.4 142.5 9.1 43.5
22 (ng) 244.29 | 291.96 | 252.8 81.0 140.8 404.1 234.2 403.8
&= (o) 3.75 4.84 4.2 2.3 3.3 10.2 2.4 2.6

*

NuA = AAdFFS £10%, TV E 48 (55~65%) : A (7~20%) @ A](15~30%)

1gd AT A (kcal)= ©<F3tE 4, @z 4, AW 9kcal & SHAF

x 2= W3t /S‘A%ko g Eﬂ oAy }X]Q o ofef o] Jﬂqmqr/}

* dElEr] AR

R, 02,95, 03.HY, 04,78, 05. 0%, 06.%, 07.31%50], 08.71, 09.A41%-, 10.5]A37], 11. 250}, 12.EntE 13.0}
A F, 14.3%, 15.9317], 16.4 7], 17.% 101, 18.57]1%(%, A&, 3% 23, 19.3F
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St =2 Al Al H =) | Ol 4 OrI1T | ."
DEEGDSE D (B24))
128 042 () 128 052 (3t) 128 06Y () fog 07¢ (=) 128 082 (2)
REGIED IENEEEYT 1X X8 S EH(A) 152008
SERApY <5 6.10.13) 1S BE(15) lEaxw S 120{%(1.2.5.6)
(1.5.6.7.9.18) ADJFHUSE |- 12FOIZRA (K (1.2.5.6.10.13.15. | - 1SIHE(5.9.16)
SRR/ /oum <x+g>(5 6.16) £)(5.6.13.17) 16) AHEUS 2 & (X
(H8)(5) cRsE=e S1gsUR CRNReE2 [8)(5.6)
gARIRS (1.2.5.6.9.13) (5.9.10.13.16.18) |(5.6.9) SARSOHES
S (5.6.9.13.15) BN (XS S{A3=00 S 1REHLX LA [(5.6.10.13)
) T - 18rel @ 2Hy| / QAL [)(8.9) (1.2.5.6.10.15.16) | - 1=ENtA MBS SO MOt # A
stga I Bl 2 I} XH S 1RI2(13) S1DROIE A [(1.2.5.6.10.12)  |(1.2.5.6.10.15.16)
(5.6.10.13.15.16.1| - 13 2¢=2t0I(1.5) [012 1x== B E=ICC)!
8) BEEEE (1.2.5.6.10.12.13. | (1.2.5.6.17) -1e32E(2)
- 12t£21(9) (1.2.5.6.13.15)  |15.16.18) RN
IHEFA =2 R1(9) RPESHEC) (5.6.9.13)
-1gRzE CAAEIATEHG) | - 1Z2HS (L
(80ml)(2) 1Y D/T2001E () (2)
(13) - 1010 («
&) (5)
Z2 A% | FE2
=[N . o oray of oty of oty ora olore
ey | g3 | g3
Ol Xl (keal ) 719.00 719.00 6.2 756.2 706.7 770.1 778.9 805.2
E3512(g) 55.7 9.6 98.9 120.0 102.9 105.6
SO X (g) 18.86 18.86 19.9 34.3 48.4 25.1 30.9 48.9
X% (g) 24.4 24.2 10.7 20.2 27.6 19.6
HIEF2IA(g RAE) | 160.86 227.31 108.8 99.9 170.8 112.3 110.1 51.0
El0t2! (mg) 0.30 0.37 0.8 1.2 0.5 0.4 0.4 1.3
2l2 22ty (ng) 0.36 0.42 0.5 0.4 0.9 0.4 0.5 0.4
HIEF2IC(mg) 24.86 31.63 27.5 10.8 8.3 65.7 29.7 23.0
2t (mg) 24429 291.96 178.8 139.3 180.7 100.3 386.4 87.1
=2 (ng) 3.75 4.84 3.3 3.3 3.6 3.9 3.4 2.3
# UA= AFAAAZFY £10%, 730l wrshE(55~65%) ¢ A (7~20%) ¢ A HH(15~30%)
# 1gd oA (kcal)= ©stE 4, @l 4, A kcal = AT
« F U QAT odnE FeAMA JFFe] FEFQY
* 4P a7 R
01. %5, 02.9-f, 03.7%, 04.7%F, 05.thF, 06.%2, 07.aL5°], 08.7], 09.4%-, 10. :eﬂz]ﬂﬂ 11. 5%}, 12. EnlE, 13,9}
AR, 4.5, 15.537], 16.437], 17.249, 18. 27 (&, A&, T £33, 19.%
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DEWXDES W (A Al
128 042(g) 128 052 (3) 128 062 (%) 128 072 (=) 128 082 (2)
R T - 1xlE R SRSy
1S 1MFAZBLIS2 [(2.5.6.12.13.15.18| - 1ATRH 20| (1.5.6.9.10.13.18)
(1.2.5.6.10.16) 8+(5.9.17) ) (1.2.5.6.10.13.15. | - 12X 2UE=
CIEREHE= - 1A X DI ROtSE 192018 d8= 16) (5.9)
(5.6.9) (1.5.6.10.16.18) (5.6.9) AN HSHE [ - 1AFZE0I(5.6)
=2t -10I0E 2LIE28 1SSAENA/A 1A =M= |(5.6.10.12.13.18) | - 12 W XFABE
oAl ooret (5.6.13) A (1.2.5.6.10.12.15. [ -+ IAMNIXI HIZFL0! [(1.5.6.10.15.16.18
c1R0FEDA/HEF | (1009)(1.2.5.6.10. | 16) (1.2.5.6.9.10.15.1])
(1.5.6.10.12) 12.13.16) 1Y XZBIRET |6) - 1glolagetole
<182 X1(9) <182 X1(9) 0l <182 X1(9) (13)
CBRIRIZ2E | - 1E2HICIARO |(5.6.10.12.13.16.1| - 1= Xt2HHI(2)
(2) (2) 8)
< 1B XI(9)
- TAFFES (13)
2 2 & =7
oA - i T Horet o oras o oFas Horet o oras
- ey | 43z | g
Ol LA Xl (keal ) 719.00 | 719.00 3.6 663.8 731.3 900.5 785.4 643.2
Bta312(g) 57.4 91.6 106. 1 123.3 92.9 109.9
CHE () 18.86 18.86 17.3 21.9 35.0 43.8 37.3 19.6
g (g) 25.3 22.0 17.1 22.8 28.3 12.3
HIEFDIA(4E RAE) | 160.86 | 227.31 138.2 20.6 187.6 111.0 313.2 58.4
E1 02! (mg) 0.30 0.37 0.8 0.4 1.0 1.4 1.0 0.4
212 Z 2kl (ng) 0.36 0.42 0.5 0.5 0.4 0.5 0.8 0.3
HIEFRIC(mg) 24.86 31.63 22.7 6.2 12.2 58.4 21.2 15.3
2+ (ng) 244.29 | 291.96 252.7 148.0 363.9 192.2 461.0 98.6
&2 (ng) 3.75 4.84 3.2 2.9 3.4 2.2 4.4 3.0
U A = AFAAHAFY £10%, FA8l= ©5sHE(55~65%) ¢ @A (7~20%) - A H(15~30%)

*

1gd A9 A (kcal)&= E—’Fﬂg 4, @A 4 =4k 9kcal = 3HAF
* 7 A AHFE odRE Fod7A o] doFe] A YY),
w27 G
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